@ £ @ Multiplicera decimaler med tiomakter

namn: Datum: Poing:
1,216 x 100000 = 2,991 x 10 =
4,353 x 10000 = 8,245 x 10 =
5,164 x 1000000 = 7,687 x 10 =
4,846 x 1000 = 2,262 x 100 =
3,931 x 10000 = 6, 058 x 1000000 =
1,256 x 10 = 2,383 x 1000 =
3,42 x 10 = 5,251 x 10000 =
5,025 x 100000 = 6,399 x 10 =
7,998 x 100 = 8,798 x 1000 =
8,482 x 10000 = 8,5%10=
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% % @ Multiplicera decimaler med tiomakter

namn: Datum: Poing;
1,216 x 100000 = 121600 2,991 x 10 = 29.91
4,353 x 10000 = 43530 8,245 x 10 = 82.45
5, 164 x 1000000 = 5164000 7,687 x 10 = 76.87
4,846 x 1000 = 4346 2,262 x 100 = 226.2
3,931 x 10000 = 39310 6,058 x 1000000 = 6058000
1,256 x 10 = 12.56 2,383 x 1000 = 2383
3,42 x 10 =342 5,251 x 10000 = 52510
5,025 x 100000 = 502500 6,399 x 10 = 63.99
7,998 x 100 = 799.8 8,798 x 1000 = 8798
8,482 x 10000 = 84820 8,5% 10 =85
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